
Lecture 22 - April 2

Program Verification

wp rule: Sequential Composition
Loop Invariant vs. Loop Variant
Correctness Conditions of Loops



Announcements/Reminders

• Exam guide released
• Some example questions to be released by April 7
• WrittenTest2 result released
• Lab4 released
• Bonus opportunity: Final Course Evaluation
• Office Hour this week: 3pm on Wed, Thu
• TA contact information (on-demand for labs) on eClass



wp Calculation for Sequential Composition
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Correctness of Programs: Sequential Composition
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Correctness of Loops

{ Q }
  Sinit

  while ( B ) {
    Sbody

  }
{ R }
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Contracts of Loops
Syntax
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Contracts of Loops: Example

Runtime Checks

Specification

Assume: Q and R are true
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Contracts of Loops: Violations

invariant: 1 <= i <= 5
variant: 5 - i

Runtime Checks

Specification

Assume: Q and R are true
Exercise



Contracts of Loops: Visualization
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Correct Loops: Proof Obligations
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Correct Loops: Proof Obligations
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- No multiple choice questions
- definitions
-short answers

↳ Justificationab2)
-

> algorithm aslong
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